38 2 HRE SEUT (M) 2674 F)
A H=, &, %, $/kg

ao 251 2007 3 () 2007 3 (F4) SHEEH) SHE(FA) TEEIHEA)
= X =% s =% ke = =g | 2006 | 20074
A 1,162,215 235,757 3,074,882 644,7911- 0.3 |- 1.9 1.9 1.2 4.74 4.77
1 S 232,095 40,409) 606,037 111,214)- 6.8 |- 14.1 2.0 |- 6.0 5.23 5.45
2 o|= 152,004 32,906 435,897 91,479]- 13.4 |- 6.4 12.7 |- 5.6 5.15 4.76
3 H| E = 98,945 13,499] 214,439 29,819I 11.1 3.1 10.9 [- 0.6 6.44 7.19
4 =3 80,131 13,363 193,598 34,181 9.4 5.9 13.0 16.0 5.81 5.66
5 2l Alot 75,180 11,013 176,859 26,5634 15.9 20.3 10.8 12.9 6.79 6.67
6 2= 62,040 8,664 164,544 25,311 2.2 3.4 1.4 6.0 6.99 6.50
7 | ofEolo|2|E A%t 28,395 5,523 82,385 15,0200- 4.1 |- 0.3 59 [- 1.2 5.76 5.48
8 = 21,504 5,816 64,166 18,228] 19.2 22.6 33.7 37.0 3.61 3.52
9 Ab-Clof2tH|of 20,789 3,497 56,566 9,653)- 2.0 5.0 3.3 |- 1.4 6.03 5.92
10 B 7| 16,986 3,664 56,437 11,5641]- 5.6 |- 23.6 0.2 |- 19.2 3.94 4.89
11 el 21,370 4,682 56,362 12,104]- 15.0 |- 0.7 10.3 1.6 5.28 4.66
12 | 22t 18,389 2,700} 51,580 7,738)- 20.0 |- 22.2 20.1 |- 26.0 6.18 6.67
13 YA 19,662 2,545 47,643 6,342 104.5 148.5 78.9 | 107.2 8.70 7.51
14 o| 2| o} 14,442 3,675 42,922 10,8100 10.8 9.1 16.4 16.3 3.97 3.97
15 Ef = 15,016 3,400} 38,401 8,511 9.0 21.6 10.2 26.1 5.16 4.51
16 d= 14,446 3,675 37,259 10,347] 34.9 7.2 30.9 17.8 3.24 3.60
17 B{Alof i} 13,473 4,817 36,649 12,896] 36.1 95.2 25.1 48.8 3.38 2.84
18 =22t 13,125 3,207 36,251 8,678 24.2 |- 2.3 24.7 |- 6.9 3.12 4.18
19 L 7ttt 8,686 1,344 34,969 41374 18.2 19.6 77.8 21.6 5.78 8.45
20 ZtE Clot 14,219 5,772 33,986 14,368] 43.7 4.7 48.8 9.6 1.74 2.37
21 Al = 12,941 2,921 33,404 8,819)- 3.4 [- 17.9 6.1 |- 14.4 3.45 3.79
22 A2 EHEAl 13,113 1,976 32,178 4,990'— 25.3 |- 22.8 16.9 [- 19.3 6.27 6.45
23 2| 2 9,926 2,731 29,158 8,844 19.1 14.6 13.5 [- 3.6 2.80 3.30
24 c 2t 9,857 2,444 28,840 7,144- 245 |- 28.9 12.9 [- 21.2 3.65 4.04
25 elC|of(2l =) 10,448 4,088 26,689 11,406]- 6.1 |- 25.5 9.8 [-17.4 2.14 2.34




38 = M7F TeAA (A2 2570=)
TRl ME, B, %, $/kg
o 20074 32 (Eg) 20074 32 (FH) SUE(EE) SUEAH) FACIHEA)
=T = ol =2 ol =2 ol zz | =29 | =2 [ 20064 | 20074
SA 651,650 115,744 2,017,635 338,901 |- 2.1 |- 3.8 13.3 8.1 5.68 5.95
1 == 369,181 61,570} 1,199,128 186,748 - 8.3 |- 9.3 16.6 11.5 6.14 6.42
2 O|Et2|of 39,603 553 124,508 2,167 11.9 |- 33.5 12.7 |- 8.6 46.58 57.47
3 U= 35,918 4,746 109,550 14,160 |- 4.5 6.6 - 0.1 6.1 8.22 7.74
4 olc|of(elE) 24,725 8,293 69,558 23,009 |- 7.0 |- 151 44 |- 3.0 3.07 3.02
5 ol | Al o} 26,079 9,594 68,241 24,714 27.2 29.6 8.7 8.5 2.76 2.76
6 H E 17,053 5,280) 57,949 16,680 9.4 |- 3.7 39.4 31.0 3.26 3.47
7 o= 20,649 2,461 55,263 6,891 121 35.2 7.9 23.1 9.15 8.02
8 CHat 14,166 7,215 43,032 21,007 - 7.1 3.9 12.2 22.0 2.23 2.05
9 = 10,611 150} 30,785 405 6.2 |- 10.7 17.7 11.9 72.30 76.04
10 Ef = 10,699 2,687 28,921 7,243 - 95 |- 124} 9.6 |- 10.8 3.94 3.99
11 7| AEt 9,071 4152 26,671 12,276 |- 150 |- 17.0 }- 13.7 |- 15.5 2.13 217
12 =<l 8,192 677 20,208 1,845 19.2 |- 12.0 17.0 |- 2.3 9.15 10.95
13 A= 7,469 850} 19,109 2,040 23.4 14.6 0.7 |- 26.8 6.81 9.37
14 A EZ|o} 5,016 1,740' 15,260 5,407 16.0 11.7 33.8 32.8 2.80 2.82
15 =22 3,644 125 14,178 443 |- 0.6 |- 27.6 1.2 |- 20.7 25.11 32.04
16 2k2j| o] X| o} 4,248 1,190] 11,408 2,903 9.6 |- 5.9 9.5 |- 16.1 3.01 3.93
17 E 7| 3,726 189I 9,977 492 I- 68 |- 299 1 29 (- 16.0 17.55 20.30
18 B == 2,967 281 9,152 663 67.4 122.7 53.0 54 A 13.89 13.80
19 o| oo} 3,594 199) 8,748 526 221.8 79.4 260.4 100.2 9.24 16.63
20 e 2,686 179I 7,775 516 94.5 29.0 1445 66.8 10.27 15.05
21 HAlZ 2,653 167 6,258 385 32.6 52.3 30.1 27.0 15.85 16.23
22 tetch 2,107 309 6,239 966 |- 15.0 55§ 11.4 0.7 7.34 6.46
23 A 2l 2,107 121 5,777 314 1.8 |- 135 |- 154 |- 44.0 12.18 18.41
24 A A 1,355 17 4,899 64 |- 151 |- 709 |- 6.4 |- 62.4 30.97 77.06
25 MIIEZ=Z 1,159 131 4,543 477 |- 48.0 |- 553 |- 33.3 |- 45.2 7.84 9.53




